St Denys Primary School

Spellings and Times Tables

Week beginning:
th
_ 29" June 2020 -

Creativity, Choice, Challenge
Achievement for All
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Activity Sheet
Term 3 Set 3 Week 9

L

Sort the words below into their groups according to their
spelling pattern.

they sleigh reins obey  weight freight
prey reindeer  weigh  eight vein  grey

I’'m collecting I’m collecting I’m collecting
words that words that words that
sound like ay but sound like ay but sound like ay but

are spelt ey.

N

are spelt eigh.

are spelt ei.

Now write a sentence using as many of
the words above as possible
to describe the picture.




Activity Sheet
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Term 3 Set 3 Week 9

102

Use the correct spelling to complete the sentences below.

g;ne or scene?j

Iread thefirst................................. inthe play.

@su rs or scissors? j

We have lost six pairs of

g;ience or sience?)

gescent or cresent?)

Themoonwasina................................. shape.
%lsinute or j’uscinute?)
Magictricks .................................me.
i gi/escend ordesend?j
; ciiiiiiiiiiiiiiiiieennn... the ladders carefully.

The ................................. lesson was about forces.
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Name: Week 1 Session 1

Times Tables 6 2020-21
. 6x tables again!
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
i 6 x 10 = 21 6Xx2= 41 7X6=
2 6x7= 22 6x 12 = 42 5% 6= Time taken
3 6x12= 23 6 x 10 = 43 1X6=
- B 3 minute time limit &
4 6x3= 24 6 x11 = 44 4%x6=
- E— Score
5 6x4= 25 6x4= 45 2X6=
6 6X6= 26 6 x 10 = 46 4X6= 60
7 6Xx9= 27 6x3= 47 4%x6=
- E— What's your rock status?
8 6x1= 28 6x9 = 48 10X 6 =
9 6x12= 29 6x2= 49 1% 6= < 18 correct in 3 mins
[ - R ) ALE DA —
10 6x3= 30 6 x4= 50 3x6= 18-19 correct in 3 mins
il 6x2= 31 11 x 6 = 51 10 X 6 = 20-21 correct in 3 mins
T K&
12 6x12= 32 3x6= 52 11 X 6 = 22-24 correct in 3 mins
UNAAGNED A<T
13 6x9= 33 11 X 6 = 53 12X 6 = 25-29 correct in 3 mins
BREAKTHROUGH ARTIST
14 6x7= 34 7X6= 54 5% 6= 30-35 correct in 3 mins
15 6x7= 35 4X6= 55 6 X6= 36-44 correct in 3 mins
HEADUINER
16 6 x1l= 36 8X 6= 56 12 X 6 = 45-59 correct in 3 mins
- - T RodisTAR
17 6x7= 37 3x6= 57 1% 6= All correct in < 3mins
- - T Rodk LEKEND
18 6x2= 38 9x6= 58 5% 6= All correct in < 2min
19 6XxX3= 39 5X6= 59 4%X6= All correct in = 1 min
20 6x7= 40 10 X 6 = 60 11 X 6 =

©Maths Circle Ltd 2020



Name: Week 1 Session 2

Times Tables 6 2020-21
. 6x tables again!
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6 13 6 25 6 37 6 49 6
X 7 X 2 X 6 X 4 X 2
- . o . . Time taken
2 6 14 6 26 6 38 6 50 6
x5 x 10 X 12 X 6 X 12
3 minute time limit &
3 6 15 6 27 6 39 6 51 6 Score
x 7 X 8 X 3 X 12 X 6
4 6 16 6 28 6 40 6 52 6 60
x 11 X 4 x 12 x 10 X 3
What's your rock status?
5 6 17 6 29 6 41 6 53 6
x 10 X 7 X5 X 2 X9
< 18 correct in 3 mins
6 6 18 6 30 6 42 6 54 6 2 ABACE BadkFD
X 8 X 6 X5 X 2 X1 CARASE {O Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 6 19 6 31 6 43 6 55 6 20-21 correct in 3 mins
X 9 X 9 X 12 X 6 X 9 «/«“%
- - - 22-24 correct in 3 mins
8 6 20 6 32 6 44 6 56 6 UW“N}W o J
X 12 x 11 X 12 X 8 x 11 25-29 correct in 3 mins
BRUAKTHROUGH ARTIST
30-35 correct in 3 mins
9 6 21 6 33 6 45 6 57 6 SIDDADT AdT
x 12 x 8 x 7 X 8 x 1 7U|TI'
36-44 correct in 3 mins
T - - HEADUINER
10 6 22 6 34 6 46 6 58 6 45-59 correct in 3 mins
X 6 X 8 X 12 X 4 x 11 Adle 27 AT
o<k #TAR
[ - - . o All correct in < 3mins
Bodk LECEND
11 6 23 6 35 6 47 6 59 6 v Iﬁ LESEND
X 3 X 12 X1 x 11 X 1 All correct in < 2min
o<k Hewo
All correct in < 1 min
12 6 24 6 36 6 48 6 60 6 o
x 10 X 6 x 10 x 1 X 4 TUMES TABLES
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Name: Week 1 Session 3

Times Tables 6 2020-21
. 6x tables again!
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6x8= 21 6x9= 41 1x6=
2 6 x 10 = 22 6 x 12 = 42 10X 6 = Time taken
3 6Xx2= 23 6Xx7= 43 3x6=
- B— 3 minute time limit &
4 6 X 6= 24 6x5= 44 9Xx6=
- E— Score
5 6 x11= 25 6x9= 45 10 x 6 =
6 6x7= 26 6 X 6= 46 10X 6 = 60
7 6x11= 27 6X7= 47 1x6=
- E— What's your rock status?
8 6 X 8= 28 6x7= 48 6 X 6=
9 6X5= 29 6X3= 49 2% 6= < 18 correct in 3 mins
10 6 x 10 = 30 6x2= 50 6 X6 = 18-19 correct in 3 mins
BUZER
il 6x7= 31 6X6= 51 6 X6 = 20-21 correct in 3 mins
T ey
12 6x12= 32 4x6= 52 5% 6= 22-24 correct in 3 mins
- UKD A
13 6 X6 = 33 12X 6= 53 7% 6= 25-29 correct in 3 mins
BRIAKTHROUGH ARTIZT
14 6 x11= 34 3x6= 54 4%X6= 30-35 correct in 3 mins
15 6x7= 35 10 X 6 = 55 10 X 6 = 36-44 correct in 3 mins
HEADUINER
16 6x5= 36 6X6= 56 8X6= 45-59 correct in 3 mins
- - T RodisTAR
17 6x9= 37 3x6= 57 6% 6= All correct in < 3mins
ROk LEGEND
18 6x8= 38 12%x6= 58 3x6= All correct in < 2min
Ro<k HERO
19 6x7= 39 4%X6= 59 8X6= All correct in < 1 min
20 6x12= 40 8% 6= 60 12 X 6 =

©Maths Circle Ltd 2020



Name: Week 1 Session 4

Times Tables 6 2020-21
. 6x tables again!
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6 13 6 25 6 37 6 49 6
X 6 X 8 X 3 X 2 x 11
- . o o . Time taken
2 6 14 6 26 6 38 6 50 6
X 4 X 3 x 10 X 7 X 2
3 minute time limit &
3 6 15 6 27 6 39 6 51 6 Score
X 8 X 12 X 12 x 1 X 9
4 6 16 6 28 6 40 6 52 6 60
x 1 x 11 X 4 x 7 X 9
What's your rock status?
5 6 17 6 29 6 41 6 53 6
X 4 X 3 x 10 x5 X 6
< 18 correct in 3 mins
6 6 18 6 30 6 42 6 54 6 A AZE DAdkFD
x 7 X 4 x 3 X 4 x 3 Q&W“E v Iﬁ‘Eﬁ
18-19 correct in 3 mins
BUSKER
7 6 19 6 31 6 43 6 55 6 20-21 correct in 3 mins
X 6 x 1 X 6 x 11 x 10 «/«“%
- - - 22-24 correct in 3 mins
8 6 20 6 32 6 44 6 56 6 UW“N}W o J
X 2 X 12 X 7 x 1 X 1 25-29 correct in 3 mins
BREAKTHROUGH ARTIST
30-35 correct in 3 mins
9 6 21 6 33 6 45 6 57 6 SIDDADT AdT
X 6 x 10 x 10 x5 X 8 FUPPORT.
36-44 correct in 3 mins
- T 7 7 7 HEADUINER
10 6 22 6 34 6 46 6 58 6 45-59 correct in 3 mins
X 6 X 1 x 8 x 10 X 6 Adle A
o<k #TAR
[ - - . o All correct in < 3mins
1 6 23 6 35 6 47 6 59 6 o<l LEGEND
X 7 X 9 X 4 X 12 X 8 All correct in = 2min
All correct in < 1 min
12 6 24 6 36 6 48 6 60 6 o
X 8 X 6 x 11 X 3 X 5 TUMES TABLES

©Maths Circle Ltd 2020



Name:

Times Tables
Rock Stars

Week 1 Session 5

Licensed to St Denys Primary School

1

10

11

12

13

14

15

16

17

18

19

20

6XxX6=

6X 3=

6x4=

6XxX3=

6X2=

6x10=

6 X6=

6 Xx8=

6x1=

6x1=

6x7=

6x4=

6x12=

6 X6=

6x7=

6x4=

6x4=

6x5=

6x4=

6Xx7=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

6 2020-21
. 6x tables again!
Times Tables 5 5 week
6x5= 41 11x6=
6x1= 42 4%X6= Time taken
6x8= 43 9x6=
- - 3 minute time limit &
o — Score
6x8= 45 10 x 6 =
6x5= 46 3x6= 60
6x8= 47 6X6=
- — Add up your time
Mi
6 x 10 = 48 3% 6= ins
- 7 s1
6x9= 49 4x6= S2
S3
6x1=7 50 1x6=7 s4
S5
5x6= 51 5X 6=
- B Total
11x6=7 52 5x6=7 Secs
S1
11 x6 = 53 2X6=
- - S2
5x6= 54 1x6= S3
- - s4
6x6= 55 9x6= S5
Total
5x6= 56 1x6=
- - Add up your score
8x6= 57 3x 6= s1
S2
= 58 =
8x6 - 8x6 - s3
3x6= 59 2%x6= S4
- 7 S5
10 x 6 = 60 9X 6= Total

©Maths Circle Ltd 2020
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